Irradiance (mW/m?)

Irradiance (mW/m?)

GOES X-ray Flux

7 Jul 2012 (DOY 189)

Fe XVI 33.54 nm (log T=6.43)

€ 0.070 ]
o X > ]
9] = 1
o € 0.065
M £
o c n/ e, v N . )
o € 0.060 :
O B ES) .
o -
A £ 0.055
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00 18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT) Time (UT)
. ESP 0-7 nm . Fe XIV 21.13 nm (log T=6.27)
T 15[ 1 T 0041 ]
> r 1 > ]
€ 10f . € 0.040 .
° C ] v '
§ 5F . § 0.039 A A
© = oy , o - -1
g oLﬁ — bt Dat e .J £ 0.038L N
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00 18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT) Time (UT)
. Eo-37 nm . Fe XIl 19.51 nm (log T=6.13)
e 20E E °c 0.0586[ ]
€ E 3 €
Sk - :
£ E 3 € 0.0573[ 1% ]
5 10E E C L ]
O F 3 8]
5 sk y i 5 00559f
; il I LIRSS ;
g o 2 0.0546L E
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00 18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT) Time (UT)
Fe XX 13.28 nm (log T=6.97) . Fe IX 17.11 nm (log T=5.81)
0.025[ ] e 0.068[ ]
H 1 > H ]
0.015F . € 0.062 |
- 1 ¢ - b "W
0.005 T ———— M § 0.057F .
o - -
-0.005 _ | £ 0.052L N
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00 18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT) Time (UT)
Fe XVIIl 9.39 nm (log T=6.81) . He Il 30.38 nm (log T=4.70)
0.020 ] % 08[ ]
H ] S r ]
0.015F . € 0.7F .
C ] N C ]
C ] o C ]
0.010 { o — 5 o.@_uttt'; S N SIS .
S :ﬂ hf.-_l.."i-‘u 5 C ]
0.005L £ ost N
18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00 18:00 22:.00 02:00 06:00 10:00 14:00 18:00 22:00 02:00 06:00
Time (UT) Time (UT)



Irradiance (mW/m?)

Irradiance (mW/m?)

Irradiance (mW/m?)

Irradiance (mW/m?)

€ ESP 0-7 nm
> 15F 3
) - =
E 10F =
[ - =
S 5
< - —
= i ~ A
§’ 18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
- Time (UT)
ESP 17.1 nm
0.90F 3
0.85F =
0.80F “-'?ﬁhjs- e -
0.75E
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
ESP 25.7 nm
0.65F 3
0.60 =
0.55# ‘W‘-W{
0.50E ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
ESP 30.4 nm
1.02F
1.00F
0.98F \ =
0.96 ]
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
ESP 36.6 nm
1.25F -
0.75F =
0.25 ¢ m 2 Lo ey o
-0.25E ﬁ
18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00
Time (UT)
€ MEGS—P 121.6 nm
= © =
€ £ 3 AN J ]
= 78 IS B I F BN R I s;wz DI
[0] % ¥ -
C 7.6 -
2 7.4 =
§’ 18:00 22:00 02:00 06:00 10:00 14.00 18:00 22:00 02:00 06:00

Time (UT)
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Fe XIl 19.51 nm (log T=6.13)
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He Il 25.63 nm (log T=4.75)
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